[image: image28.png]Directions for Questions 63 to 66: Tn each of the following questions thete aro senlences (hat
form 2 parsgraph. dentify the sentencefs) of part(s) of sentence(s) thul isfarc correetin iemas of
stomma and uenge (ncluding spelling, punctuation and logieal consistoncy). Then, choose the
‘most appropriate option.

1 1849, a poor Bavarian imigrant named Levi Srauss

Tanded in San Francisco, Califomis,

at the invitation of his brother-in-law David Ster

owner of dry goods business.

“This dry goads businiess would later becatme known a5 Levi Strauss & Company

moAFEg

(WBey @BmdC (YAmdB Doy ()ABadD

In response to the allegations and copdemuation pouring in,

Nike implomentod comprehensive changes in their lsbou palicy.
Perhaps sensing the rising fide of global lsbous conseras.-

from the public would become a prominent media issue,

~ike sought to be a industry lcader in employeo relations..

EEEL RS

(HDadE @Dely @AmdE @AmdD (5B CandF

65.

. Charges and countescharges mean nothing

B, {0 the fow million who have lost their home.

. The nightmare is far from over, for the govemment
D. is sill unable ta reach hundreds who are marcone
E. The death count havo just begun.

(hAony (@Conly (HAmdC (A CendD (5) D only

66.

A | did not know what to make of you

B+ Beowuse you'd lived in Indin, T assueiate you piore with my parents than with me.

- A yet you were unlike my cousing in Calouta, who seert 0 fanoseat and obadient when T
visited them,

D. You werc not curious about me in the least

E. Although you did make effors to meet me.

Aoy @AadB (HAmE @Poy ()AwmdD
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This section contains 25 questions

1. How many integors, greatcr than 999 but not greater than 4U0), can be formed with the digits
0,1, 2,3 and 4, if repetition of digits is allowed?

()49 (@) 500 3375 @376 () 501

2. What is the number of distinet lerms in the expansion of (a+ &+ ¢)*'?

[GEEN @253 3242 @210 (5)228

Dicections for Questions 3 and d:

“The figure below shows the plan of 4 lown. The streets are at right angles  cach ofher, A
reclangulur park (P) is sicuated inside the town with a diagonal road running through it. There is
also a prohibited region (1) ir: the fown,

A

4B

3. Neelam rides her bicycle from her house at A to her ofTice at £, taking the shortest path. Then
the number of possible shortest paths that she can ¢hoose is

6o @75 345 @90 ®n

4. Neelam rides her bicycle from her house at.4 to her club at C, via B taking the shortest path.
‘Then the nuraber of possible shortest paths that she can choose is

M @630 3792 ) 1200 (5936
5. Consider a right oitcular cone of base radius 4 om and height 10 cm. A cylinder is to be

placd inside the cone with one of the Nlat surfaces resting on the base of the conc. lind the
largest possible total surfuce aren (in sq cm) of the cylinder.

100n 80m 1200 130n 1ton
) 2 28 5 @ L
W= @3 0= Wy =

6. What arc the last wo digits of 72

[OR] @6l [OL] @a (5181





[image: image3.png]7. In o triangle ABC, the lengths of the sides A and AC equal 17.5 cm and 9 cm respectively
Let D be a point on the line segment BC such that A1 is perpendicular o BC. 1t AD ~ 3
then what is the radius (in cm) of the vircle circumscribing the triangle ABC?
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(1)17.05 @27585 (32245 (@225 (512625
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9. A shop stores x ke of rice. The first customer buys half this amomnt phus halfa ke of rice. The
seeond custamer buys half the remaining amount plus half a kg of rice. Then the third customer
also buys half the remaining amount plus half a kg of rice. “Iherealter, no rice is left in the shop
Which of the follawing best describes the value of 7

()2<x<6  ()5<x<8  (H9sx=l2 @ ll<xslq (9 13£x<18

Directions for Questious 10 and 113

Letf(x)=ax’ | bx ¢, where , b and ¢ arc cortain constants and « £ 0. Tt is known that
F(5)= ~3f(2)and that 3 is 2 root of £(x) = 0

10 Whatis the other oot of £(x) - 07
-7 @ o2 )6 (5 cannot be defermined
11, Whatis the value of a-+b+¢?

e @14 [©FE) 4137 (5) cannot be determined

12. The number of common Lerms in the two sequences 17, 21, 25,..., 417 and 16, 21, 26,
466 is

78 @19 Gyav @77 522

13. Let f{x)be a function satisfying /(x)/(») - f(xv) for all real x, . If £(2)— 4, then what
i the value af £(1)7

1
3

o [6) OF @1 (5) cammot b dotormined
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14.1¢ the roots of the cquation x* —ax® +bx—c = 0 are three consecutive intcgers, then what is

the smallest possible vahue of 67

@1 30 @1 5)

i

Directions for Questions 15 and 16:
Mark (1) if Q can be answerod from A alone but not from: B alone

Mark (2) if Q can be answered from B alonc but not from A alone

Mark (3)if'Q can be answered from A alone as well as from B alonc.

Mark (4) if Q can be answered from A and B together but nul Jrom any of them alone,
Mark (5) i Q cannot be answered even from A and B together.

In a single elimination foumarsent, any player s climinated with a single loss. "The touranent

is played in multiple rounds subject to the following rulcs;

(@) If the mumber of pleyers, say i any round s even, then the players are grouped i 0 a2
pairs. The players in each pair play a match against each other and the winner moves oit Ly
the next zound.

(b) L1 the munber uf players, say . in any round is odd, then ane of them is

on a bye, that is,

he automatically moves on 1o the next round. "The remaining (#-1) players are groupd into
(-1/2 pairs. ‘Ihe players in each pair play a match against each other und the winner moves
on  the next round. No player gets more thaa anc bye in the entire tournament
Ihus, if # is even, then nf2 players move on ta the next round while if 1 is ocd, then (r+1)2
players move on 16 Lhe next found. The process is continued till the final round, which obviously

is played between two players. The winner in the final round is the chumpion of the tournament,

15.Q: Whatis the number of matches played by the champion?
A: The cniry list for the tonmament consists of §3 playcrs,
B The champion received one bye,

16. Q: If the rumber of players, say s, in the first round was between 65 and 128, fhen what is
the exact value of n?
A Exactly one playet received 1 bye in the entie tournament
B: One player received a bye while moving cn (o the fourth round fron: the third round

17. The integers 1, 2. ..., 40 aro written an a blackhoard. The foliowing cperation is then
repeated 39 times: [n each senciition, any two mmbers, say a and b, cucently on the blackhoard
are erased and a new number a1 b -1 is written. What will be the number left on the hoard at
the end?

y 820 @821 (3)78L @819 ©r780

18. Consider a squaro ABCD with midpoints E, F, G, 1T of AB, BC, CD and DA respeciively.
Let L donote the line passing through 1 and H. Consider points P and Q. on L and inside ARCD,
such that the angles APD and BOC both equal 120°. What is the ratio of the area of ABQCDF 0
the remaining; area inside ABCD?

W2 10-343 1

@2-43 O g

m () 2431

3

333





[image: image5.png]19, Consider obuse-angled triangles with sides 8 om, 15 om and x em. 17 x is an integer, then
huw many such triangles exist?

s

[O1Y @15 1

20, Three <o itive integers are raised to the first, second and third powers
respectivety and then added, The sum so obtained is a perfect squarc hose squarc oot equals
the total of the three original integers. Which of the [ollowing hest describcs the mininum, siy
m, of these three inteigers?

W1£ms3 (D 4<m<6 () TSm<9 @M=ml2 (B 13Em<ls

Directions for Questions 21 and 22:

Tive horses, Regl, Wiyke. Grey, Blydk and Spotted pasticipated in a taco. As pee the rules of the
e, the persois betting on the winning horse get four ties the bet amount and thosc betting on
the horse that came in sccond get thrice the bet amount, Marcovet, the bet amount i retumed to
those betting on tho horse that came in third, and the rest lose the bet amount. Rajn bets
Rs3000, Rs2000 and Rs.1000 on Red, White and Black horsus respectively and ends up with
70 profit and o foss.

21. Which of the following cannot b truc?
ollowing < oo {

(1) Al least two horses Finished beforo Spotied.
(2) Red finished last
(3) There were three horses between Rlack and Sported +
—44) There were throe horses between White and Red
{5) Grey came in second.

22 Suppose, in addition, it is known that Grey came in fourth, Then which of the following
camol he true?

(1) Spotted came in first

(2) Red finished last

(3) Whitz came in second.

{4) Black came in sccond.

(5) Thore: was ane horse between Back and White

23, Two circles, both of cadii 1 em, ntersect such that the circum(erence of each one passes
through the centre of the other. Wht is the area (in sq cm) of the intersecting region?

u
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[image: image6.png]24. Rithim plans to drive from city A to station C, al the speed of 70 km per hour, to catch  train
artiving there from B. He must reach € at least 15 minutes before the aurfval of the train. The
train liaves B, located SO0 km south of A, a1 8:00 am aud travels at a specd of 50 km per hour. Tt
is known that C is located between west and nordrwest of B. with BC ot 60° to AB. Also, C is
located between svuth und southwest of A with AC at 30 to AB. The fatest time by which Rahim
must leave A and still catch the trsin is closest to

(M61Sam  ()630am  ()ed5wun (@) T00am (5) 7:15am

25. Suppose, the seed of any positive intcer r is definsd as follows:
seed(n) ~ . ifn < 10
— seed(s(a)), otherwise,
where si) indicatos the sum of digits of n. Tior cxample,

seed(7) - 7, soud(248) — seed(2 +4 + §) = secd(14) ~ seed(1 +4) = sced(5} - 5 etc,
How wany positive inlogers 1, such tha < SU0, will have seed(r) — 97
3 @7 [OF] 4108 )55
c1o m

el
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“This section contains 25 questions

Directions for Questions 26 to 28 Answer the following questions based on the information
given below,

There are 100 employees in an orgmnization across five departments. The following table givcs
the depuriment-wise distribution of avorage age, average basic pay and allowances. The gross
piy of an employee is the sum of histher basis pay and allowances

Department. Numberof | Average | Average Basic Allowances
B Employees | Age (Veurs) Poy (Rs) (% of Basic Pay}
AR 5 4 5000 70
Marketinig 30 35 6000 30
Finance 20 30 650 60
Business Development 35 42 7500 s
Maintenance 10 35 5500 50

There are limited aumbens of employees considercd for transfer/promation across depariments
Whenever  person is mansfemedipromoted from a department of lowcr average age 10 1
department of higher average oge, heishe will get an additioual allowarce of 10% o hasic pay
aver and above histher urrent allowance. There will not be any change in pay structure if 2
persen is transiermed/promoted from a depastment with higher average age 1o @ department with

lower average age.

Questions below are independent of each other

26, There was » mutual transfor of an cmployee between Marketing and Finance departments
and ansfer of one employee from Marketing 1o HR. As a result, the average age of Finane
department increased by onc year and that of Marketing department remained the same. What is
the nevw average age of HR. department?

W30 @35 @40 “)45 (5) vanmot be determined
27. What is the approximate percentaye change in the average gross pay of the TR department
duc fo tansfer of @ 40-yoar old person with basic pay of Rs.5000 from the Markoting

department?

(1) 9% 2)11% (3)13% () 15% GH17%

28. If o employess {each with a basic pay of Rs.6000) ane transferrod from Maintenne
department to ITR departiaent and one person (with a basic pay of Rs.8000) was ransferred
from Marketing department to HR departmeat, what will be the porcentaye change in average
basic pay of ITR depirtment?

(1) 10.5% @ 125% () 15% () 30% (5)40%

al 333





[image: image8.png]Directions for Questions 29 to 33: Answer the following questions based on the information
given below

Abdul, Bikram and Chetun are three profossional traders who trade in sharcs of a campany XYZ
Lid. Abdul follows the strategy of buying at the opening of the dy at 10 am and selling the
whole lot at the close of the day at 3 pm. Bikram follows the strategy of buying at hourly
intervals: 10 am, 11 am, 12 noon, 1 o and 2 pm, and selling the whols Lot at the close of th
day. Further, be buys an equal number of shares n each purchase. Chetan follows a sitalar
pattern as Bikram but his strategy is somewhat different, Chetan’s total invesiment amount is
divided equally among his purchases. The profit or loss made by cach iuvestor i the differencs
berween the salc valuc at the close of the day less the investment in purchasc. The “retum” for
cach investor is defined as the ratia of the profit o loss 1o the investment amount expressud us &
pereontage.

29. Which onc of the following statcments is always trus?

(1) Abdul will not be the one with the minimum retarn
(2) Retum for Chetan will be higher than that of Bikram
(3) Return for Bikram will be higher than that of Chetan
€4) Retum for Chetan cannot be higher than that of Abdul
{# none of the sbove

30.On 4 “boom™ day the share pricc 0f XYZ Lid. keeps rising throughout the day and peaks at
the close of tho day. Which trader got the minimum reimm ou that day?

4 Biknom  (2)Chetan  (3) Abdul  (4) Abdul or Chetan  (5) cannot be dotermined.
31. On a day of fluctuating market priccs, the share price of XYZ Lid. ends with 4 gain, Le., it is

‘higher at the closc of the day compared to the opening value. Which trader got the maximuo
retum on that day?

WBkem  @fthon () Abdul (4) Bikram or Chetan ~ (5) canuot be determined

One day, two uther traders, Dane and Emily joincd Abdul, Bikram and Chetan for trading in the
shares of XYZ Ltd. Dano followed a strategy of buying equal numbers of shares at 10 am, 11
am and 12 noon, and selling the same numbers at 1 pm. 2 pm and 3 pm. Emily, on the other
hand, followed the stratcgy of buying shares using all her money at 10 am and sclling all of
them st 12 noon and again buying the shares for all the moncy at 1 pm and again selling all of
them at the elose of the day at 3 pm. At the close of the day the following was obscrved:

i Abdul lost money in the ransuctions.

. Both Dane and Emily made profils.

fid. Thore was an increase in share price during the closing hour compared to the pric:
iv. Share price at 12 noon was lower than the opening price.

cn 33




[image: image9.png]32, Which of the following is necessarily false?
Share price was at i1s lawest a2 pm
) Share pries was at s lowestat 11 am
(3) Share price at 1 pm was higher than the share price at 2 pm.
(4) Share price at 1 pm was higher than the share price at 12 nuon
{5)mome of the above
33, Shere price was al its highest at

(1) 10am @ 11am @)i2noon  ()lpm

cua

(5) cannot be determined




[image: image10.png]Directions for Questians 34 to 37: Answer the followiny questions bascd on the information
given below:

The bar chart below shows the revenwe reccived, in million US Doliars (USD), from subscribers
1o 7 particular Iniemet secvice. The data covers the pariod 2003 to 2007 for the Unifed States
(US) and Europe. Tho bar chart also shows the estimated revenucs from subscription to this
service for the period 2008 1o 2010,
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34.In 2003, sixty porcent of subscribers in Europe were men, Given that women subsetibeny
incease at the rat of 10 percent per aniin und men at the rate of 5 porcent per angum, swhat is
the approximate perccnimge growth of subscribers between 2003 and 2010 in Furope? The
subseription prices are volatile and may change each year.
ez @15 78 )84 (5)50
35. Consider the annual percent change in the gap hetween subscriptivn revemies in the US and
Europe. Whatis the year in which the absolulc value of this chango is the highest?

—
(1y03.04 (2)05-06 (3) 0607 4)08-09 (5)09-10
36. While the subscription in Europe hus been growing steudily towards that of the US, the
growth zate in Furope seems to he declining, Which of the follawing is clasest to the percent

change in growth rate of 2007 (over 2006) relative to the growth rate of 2005 (over 2004)7

m17 @20 ()35 60 100

37. The difference between the estimated subscription in urops in 2008 and what it would have
been if it were computed using the percentiyge growth rate of 2007 (over 2006), i closest to

(150 @80 ™2 @ )0

cis
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[image: image11.png]Directions for Questions 38 to 40: Answer the following questions bused on the statements
given below:

() There are three houses on euch side of the road.

(ii) These six houses arc labeled as P, Q. R. 8, T und U.

(i) The hauses arc of different colours, namely, Red, Blue, Grecn, Orange, Yellow and While
() The houses are of different heights.

(v) T, the tallest house, is exactly opposite to the Red coloured houss,

(vi) “The shortest house is @xactly opposiic to the Green coloured house.

(vi) U, the Orange caloured house, is located between P and S.

(vii) R, the Yellow coloured house, is exnctly appositc to P.

(i) Q. the Grgen coloured hoyse, is cxactly opposite to U

() P, the White coloured house, is taller fhan R, but shorter than S and Q.

38, Which is the second tallest House?

we @s ®0Q (4R Ls¥eumot be determined

39, Whatis the colour of the tallest house?

(1) Red m {3) Gireen (4) Yellow {5 none of thse
| 40, What s the colour of the hause diagonally opposie (o the Yellow colourcd ouse?

o White @) Blue (3) Green ) Red (5) nome ol these

.
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[image: image12.png]Dircctions for Questions 41 to 44: Auswer the following questions based on the information
given below:

Tn a sports event, six 1wams (A, B, C, D, Fand F) arc compeing against cach ofher. Matches arc

scheduled in two stages. Each team plays three matches in Stage-T and two maches n Stage 1T

No team plays against the sarme team more than o 1. he. eent. No ties are permitied 7 any

of the matches. The observations after the completion of Stage-l 5 Stagel are g given
v R

below. 5,

3
Stage-T:

* One tearn wan all the three matches, -

*  Two teams lost ali the matches. v

* Dlostto A bul won against C and F, %
* Elostto B but won against C and F.

B lost at least one match,
F did not play against the top team of Stage-1. ¥

Stage-
* The leader of Stage-] lost the next two matches.
* Of the two teams at the bottom after Stage-l, one team won both matches, while the
other lost both matches.
* One more team lost both matches in Stage-I1.

41. The only tcam(s) that won both the matches in Stage-11 s (arc):

mB @E&F (VA E&F @R L&F (/S)B&F
42. The teams that won exactly two matches in the event are:

(A D&F (2)/1)&5 O E&F @DLE&EF  (D&T
43. The team(s) with the most wins in the cvent s (arc):

A HA&C ()F E DB&R
4. The two tzams that defeated the leader of Stage-I are:

WF&D QE&F 3)B&D HB&D (5)K&D

T o

c17 33





[image: image13.png]Directions for Questions 45 to 47: Answer the fullowing questions based op the information
given below:

elosom operators et eveane from transfer of daid s voice. Average revenue received from
i of cach unit of data is known as ARDT. Ju e dingram below, the cevenae received
from data ransfer as percentage of towl revenue oneived and the ARDT in US Doliars (USD)
are given for variows countries.
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5. Tt s cxpected that by 2010, yevenue fiom data raosfer 43 € P cntage of total revenue will
Tl for India and doublo for Sweden. Aswne hat it 2010, he tomal revenue in India is twice
P Sweden and that the volume of dat transfer 8 he S35 ‘oth the countries. What is the
purcentnge insrease of ARDT i ndia i tere 20 change in ARDT in Sweden?

(1) 400% @55 (3)800% (4)950% () cannot be determined

46, I e total revenue regeived is the same for Lhe paivs of countries fisted in the choices below,
“hoose e pai it bus approimately the same valume of data tramsfer.

(1) Pilippinos and Avstia  (2) Canada and Poland (3) Gormany uad USA
{4) UK and Spain (5) Denmirk ind Mexico
a8 )
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47. It was found thal the volume of data trnster in India is the same as that of Singapore. Then
which of the fullowing statements s ruc?

(1) Total revenue is the same in hoth countries

(2) Tolal revenue in India is about 2 times that of Singapore
(3) Total revenue in I is about 4 times that of Singspore
(4) Total revenue in Singapare s about 2 times that of India.
(3) Torl revenue in Singapore is about 4 times that of India

Dircctions for Questions 48 to 50: Answer the follow ing questions based on tlie information
given below:

For admission to various affiliarcd colleges, a university conducts a wrilien test with four
difforunt scctions, cach with & maximurm of 50 marks. The following table gives the aggregalc as
well as the sectional cut-off marks fixed by six differea colleges affilsled to the A
student will get admission onty if heishe gots marks geater than or equal 1 the cut-off marks in
ench of the sections and his'her aggregate marks are at least equal Lo the aggregar cul-off marky
as specificd by the college,

Sectional Cut-of Marks Ageregate |
Section A | SectionB | Scetion C Cut-0ff Marks
[College 1 7= a a7 E) — 1%
College? % - TT
[College 3 a6 - 171
College 4 3] N 45 178
College 5 s - 180 3
[College & T K 1]

48, Charic o callsfrom two calloges. What could be the minizmum marks obtnined by hipa a
section? Yo

o @a2t @25 @35 [

49. Aditya did not get a call from even a single college. Whet could bo the maximum sggregate
marks obtained by him?

st @176 (184 196 (5) 190

50. Blama got calls from all colleges. What could be the minimum ageregate marks obieined by
her?

@150 ) 181 @319 176 (5) 184

<1y 333





[image: image15.png]SECTION 1T
‘This section contzins 40 questions

Directions for Questions 51 fo 54: Fach of the following questions has a sentence with two
blanks. Given below exch question are five paiss uf words. Choose the pair that best completes
the sentence.

s1.
The gemocides in Rosnia and Rwand, apart from being mis-desoribed in the most sinister and
__ manncr as “ethnic cleansiny’, were also blamed, in further hund-washing rhetoric, on

Something dark and interior to__ and perpetrators alike.

(1) innovative; communicator (4) exigun; exploiters

(2) enchanting; leaders (5) ragic: suflerers

3) disingenuons; victims

s2.

As navigators, calendar makers, and other _ of the night sky aceumulated cvidence
the contrary, ancient astronomers were foroed to ___ that cerigin bodics might move in

cizcles sbout points, which in tam moved in circles about the

{1} serutinizers; believe {4} observers; concede.
(2) abservers; agrec (3) studenis; conclude
(3) scrutinizers: suggest

53,
Every human heing, after the first few days of his life, is « product of two faclors: on the one
hand, there is his endowment; and on the other hand, there is the effect of

environment, including

(1) constitutional; waather (4) cconomic; learsing

£2) congenital; education (5) genctic; pedagogy

(3) personal; climare

4

Exhaustion of natural resources, destruction of individual initiative by govermments, control
aver men's winds by central _____of education and propaganda are some of the msjor

vils which uppear o be on the increase a a result of the impact of science npon minds stited
by_ to un earlicr kind of world

(1) tenets; fixation (4) organs; uadition

(2) aspeets; inhibitions
(3) nstitutions; inhibitions

3t 33





[image: image16.png]Directions for Questions 55 to 58: Tn cach of the questions, & ward has been used in sentences
B ve ifferent ways. Chaose the option comesponding to tho sentencs 1t ‘which the usage of
the word s incorrect of inappropriate.

55, Run

(1) € mustyun fust o catch up Witk hin

{2) O team scored  goal against the run of play'

(3) You can’t run over him Jike that.

(4) The newly relessed book is enjoying a popular .
(5) This i is a rup-of:the-mill production.

56. Round.

(1) The police fired a round of tear gas shels

{2) The shop is located round the comet

(31 We ook a ride on the merry-go-round.

(&) The doctor is on o hospital round.

51 shal prooced further only afer you come ousd 12 udmiting it.

57. Buckle

(1) Alter the fong hile our knees wer beginying 1 ueklo.

“The harse suddenly broke into 2 buckle.

{3) Tho acoused did not buckle ander polics ileifcgAton:

& Sometimes, o cathyuake can make  bridge biclde

(5) Peaple showld feam to buckle up as soon as ey gel {0 8 <8t

58. File

(1) You wil find the paper in the file under €
(2)Tpced o0 file an insurance claim

(3) The cadeis were marching in a single file

{4) File yonr nails beforo you apply nail polish

{5) Whien tho parade was op, n oldier broke the il





[image: image17.png]Directions for Questions 59 to 62: I cach question, there are five sentenccs. Each sentence has
@ paic of words ihat are iialicized and highlighted. From the italicived aud highlighted words,
select the most appropriate words (A or B) (o form corect sonfences. The scnlences are
followed by options thal indicatc the words, which may be selected to correctly complete the set
of sentences. From the options given, choose the mast appropriate ore.

59,
sAnita wore a beavtiful hroach(4)/hrooch(Bf on the lapel of her facket.
If you want to complain about the amenitics in your neighbourhond, please meet your

councillor(4)/counsellor(B)!
| would like your advice(4)/advise(B) on which job T should choose.

The last scene provided a elimactic(AY climatic() ending 1o the film,
Jeans that lair()/flare() at the bottom are in fashion these diys.

(JBABAA (2)BABAB (3)BAAAL (4) ABABA (5) BAABA

0. /

The cake had lots of currens(A)/currants(B) and nuts in i

1 you engage in such exceptional(4)/exceprionable(B) behavicur, T will be foreed fo punish
ou, )

He has the same capacity as an adull to consent(A)/assenit(B) 1 surgical treatment,

The minisler is obliged(-4)/compeied(B) to repurt regulurly to a parliamentury board

Tis anlysi of the situation isfr 100 sunguie(A) gerine(t)

(JBBABA (2}BBAAA  (3)BBBBA (4) ARBAD (5) BABAR

61
She managed to bite back the ironjc(4)/eauste(B) rcrort on the tip of her tonguc.
He gave an impassioned and valid(A)/cogent(8) pie for judicial reform

Lam not adverse(A)/avegse(B) to helping out.

The enupé(iconp(B) broke away as the train climbed the hill

They hesnd ihe bells peeligg(1)ipeating(8) fac and wide.

()BBABA ()BBBAB (3)BAABB (4) ABBAA (5) BERBA

62
We were not succussful in defiising(A)/diffusing(B) the Guro’s ideas.

The students haited(4)/bated(B} the instructor with imelevant questions.

The haard(A)/horde(B) rushed into the cammpus,

“the pristmcr’s interment(4/internment(B) came 1o an end with bis carly relcase
The hockey: ‘cam could nol deal with his ensociable(A)/unsocial(B) rendoncies

(DBABBA (2)BBABB (3) BABAA (4) ABBAB  (5) AABDA
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1. DO NOT REMOVF 11 SEALS OF THE PLASTIC ENVELOPL OF THIS KGOKLET UNTI
THL SIGNAT TO START IS GIVLN.

2. Keep only the Adunil Card, pencil, eraser and sharpercr with you. DO NOT KELP with you books,
wulers, sl rules, drawing siruments, calculators including watch clculaars), pagers, eclular
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At the start of the Test:

1. s Soum e the signal o star is iven, open the Test Booklet,
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candintes will forfeis the right to she scor The testing authority reserves the eight (o exciude uy
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[image: image18.png]Digoctions for Questions 67 to 70: Fach of the following questions has a parsgraph from which
the st sentnce s been delecd. From the given options, choose fhe senfence that completes
the paragraph in the must appropriate v

67,
Most people at their fist comsultation take a futive Iook at the surgeon's hands in the hope of
reastusance. Prospective patients look for delicacy, sensitivity, stcadiness, perhaps unblemished
pullor. Onthia basis, TTerry Perowne loses & number of cases each year. Genetally, he knows
i sbout 10 happen before the patient does: the dowaward glance tepeated, the prepared
questions beginning to falter, the overemphatic thanks during the reireat to the door.

(1) Other people da not commnunicate due to their poor abservation.
(2) Other patients dou’t like whal the sce but ave ignorant of their right (o go clsewhera,
(3) But Perowne himself is not concerned.

(4) But others wilt take their place, he thought

(5) These hands are steady enough, but they arc large.

n

68
Trade protectionism, disguised as concom for the climate, is raising its head. Citing
sompeitivencss concems, pawerful industialized countres ar: holding out threats of o levy on
fmpars of energy-intensive products from devcloping comntrics that refuso o acoept their
deamunds, The actual source of protectionist sentiment in the OECD countecs i, o enurse, their
cument luckdusie economic performance, combined with fhe challenges posed by the ragid
eoomomie vise of Chima and tndka - in that order.

{1) Climate change is evoke to bring trade proteetionism through the back door.
(2) OECD countries are taking refige in climate chunge issues to croct trade basrers agaiast
these two countries.
A3 Climte change concerns have come as a convenient stick ta beat the risics rade porwer of
China and Tndia,
(8) Dofenders of the global economic status quo are posing as climate change champions.
(5) Today's climare change champions - the perpetrators of global econamie inequity,

69.

Mattaichery is Indian Jewry's most. famous sculement. Its pretty streets of pastel coloured

Houscs, connested by firtfloor passages and horne o the last tielve saree-tnd-sarong-wesriug,

yhite-skinned Indian Jevws arc visited by thousands of tourists cach year. Is synagogue, bult 1y

1568, with a flnor of blue-and-white Chircse ties, a carpet given by Haile Sclasste and the
sty Yaheh selling tickets at the door, stands s an image of religious tolerance

<) Matmncherry represents, therefore, the perfoct picture of peacefil co-existence.
(2) India's Jews have alimost never suffered discrimioation, except for Furopean colonizers and
each other.
(3) Jews in India were always tolcrant,
(4) Religious tolerance has always beon only a fagade and nothing more.
(5) The pretty pastel strects are, thus, very popular with the taurists

5 33
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Given the cultural and intellectual intoreonnections, the question f what js “Westom” and whal
i ‘Eastorn’ (or fndian’) is often hard to decide, and the issuc an be discussed caly in more
diatoctical terms. The diagnosis of g thought as “purely Westomn” or ‘purely fndian” san be very

ilhwsory.

(1) Thoughts are not the Kind of things thit can be casily catcgotizod.

{2) Though “occidentalism’ ani ‘orientalism’ as dichotomous concapts liave found oy
adherents

(3) “Eastis Fast and West is West’ has hoon a discredited notion for a loog fime nav.

(4) Comparmentaliing thoughts is aften desirable

(5) The origin of a thought is not the kind of thing (0 which ‘purity” happens casily

6 3





[image: image20.png]Directions for Questions 71 (o 75: The passage given below is followed by a st of five
questions. Choase the most appropriate answer lo each question.

A remarkable aspect of arl of the present century 18 the range of concepts and idealogics which
it cmbodies. 11 is almost tempting (0 sec a pallern emsrging within the art field - or alternatively
fipased upo it @ prsteriori - similar (o that which exists uder the wmbrella of science where
the general term covers a whole range of separate, though inforconnecting. sctivities._Any
parallelism s howver - in this instance at Juast - misleading, A wientific discipling develops
systemutically onee its bare fencis have been catablishd, nared and categorized us conventiuns,
Mapy of the concepts af modern art, by contrast, have resulted from the almost aceidental
mestings of groups of ialentod individuals at certain tmes and certain pligesThe idoas
AT by MRS TG moetings Fad (Wt consequences. Firsly. @ carpis of work would
e produced which, in great part, remains as a concrete recard of the events. Secondly, the ideas
would themselves be disseminated through many different channels of commmication - seeds
fhat often bore fruit in contexts far removed from their generation. Not all movements were
exclusively concemed with innovation. Surealism, for instance, claimed @ embody a kind of
insight whish gim.be present in the art of any.peripd. This claim bas been pencrully accepied 0.
AT u sixtconth century painting by Spranger of a mysicrious photograph by Alget can
fegitimately be discussed in surrcalist lorms. Bricfly, then, the concepts of modern art wie of
many different (often fundamentally different) kinds and resulied from the exposures of
paintess, seulptors and thinkers 10 the more complex phenamena of the twentieth contury,
cluding our ovor increasing knowledye of the thought and products of carlier senarics
Different groups of arfists wauld collaborate in trylag to make scnsc of a rapidly changing world
of vienal and spiritual experience. We should hirdly be surprised if no one gronp suceedsd
completely, but achievemenis, thoush relative. have been considerable., Landmarks have beoy
established  concrete sitements of position which give a paitem to a situavon which could
casily have dessenurated into lotal chaos. Beyond this, new language tools have boen created for
those who follow - semantic systems which can provide « springboard for further explorations.

The codifying of arc is oficn critieized. Certainly one can tnderstand shat aists ars wary of
heing pigeon holed since they are apt i 1hink of themselves as individuels - sometimes with
g00d resson, The notion of sclf-expression, however, o longer varries quitc the weight it ones
i chjcetivity has its defenders. There is good teason (o accep the idas codificd by arfists and
Critis, tver the past sixey veurs of 50, as having attzined the status of independent existence - an
Independence which is not without its 0w vaiue. The timo factor is imporlaat borg._As an art
‘movemtent slins into femporal perspective, il-ceases o he.a living oreants - becoming, TalRen 3
fossil s “Ei say that it becumes uscless or uninteresting. Just as a seientist can
Teconsiruct the life of a prehisteric cnviromnent from the messages cadified into the stiucture of
 fossil, so can an artist desipher whole webs of intellectal and creative possibility from 1
recorded stveture of & ‘dond” art movement The ardist can match the creative pattems
crystallized into this stcasture against the potentals und possibilitics of his o time. As T.5.
Lliot abscrved, no one starts anydhing from seralcly, however conscinusly you may &y to live in
e prosent, you are still involved with o nexus of behusioar patierns hegueatied from the past.
he origina; and ereative person is ot someane who ignores lhese patterns, hut someone Who s
able (o wanslate snd develop them so that they conform more exactly fo his - and our - preseut
neods

71. Many of the concepls of modem at have boen the product ol

(1) dcas gemerated from planned delibesations betwoln arists, painters und thinkess.
(2) the disscmination of ideas through the stafc and its organizations.
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[image: image21.png](o ctians among people blessed with creative must.
(4) patronage by the rich and powerfil that suppurted art
(5) systematic investigatian, codification and conveetians

72. In fhe passage, the word *fossil® can be interpreted as

(1} un st movement that has ceased to remain inferesting or useful.

(2} an analogy (rom the physical world o indicatc a ristric art movement.

(3) an analogy from the physical world to indicate the barrennss o aristic ercations in the it

(1) an cmbedded <odification of pre-historic .

(5) an analogy from the physical world to indicato tho passing of an era nssaciated with an art
movement

73. In the passage, which ol the following similarities between science and urt may lead o
erroncous canelnsions?

T Buth, in general, include a gamut of distinct but intetconnecting activities.
(2) Both have movements not necessarly concermed wilh innovaion.

A3) Both depeid ou collaburstions between tlented individuals.
(4) Buth invofe abstruct though and dissemination of idcas
(5) Bath refllect complex privrities of the modem wotld.

T4, The ramg
explained by

oF eomcepls and ideologics embodied fn the art of the twentieth century is

(1) the existence of movements such as surrealism.
(2) landmarks which give a pattcr 1o the i history of fhe twenticth century

(3) new lungunge teols which can be used fur furtker explorations into new areas.
(4) the fast changing world f perceptal and transcendental understandling,

(5) the quick exchange cf ideas and woncepts coabled by efficient technalagy

75. The passage uses an obsecvation by 1°S. Kliot o imply that

- (1) creative processes are not “origanal” becanse they ahways burrow from the past
~(2) we always canry forward the lugucy of the pasi,
= (3) past bihaviours wni thought processes recreate themselves in the present and get labeled as
ariginal” or ‘creative’.
(4 “originality’ cim only (ive ina ‘g

ecahouse” insulated from the past bisses,

7 innovations” and “original thinkiny interpret 2nd develap on past thoughts Lo suit
contemporary needs.
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Dicections for Questions 76 to 80: The passage piven belnw is ollowed by a set of five
questions. Choosc the most appropriace answer 1o cach question.

To sunmarize the Classic Maya collapse, we can tencatively identily (ve stiands. |
acknowledse, however, that Mays archacologists stll disagree vigourously umong chemselves —
in par, because the differcnt strands exidently varied in importance among differcr parts of the
Maya realny; hcause detailed archacological studies arc avalabTs Torvny-seme-Magasites; and
becaie it remains puzzling why most of the Maya heardand remsined nearly_empty of

_population and failed 1o rueer

fte s collapseand afteT o grovilh of forests.

With those caveats, it appears Lo me that one strand consisted of population growth ousstripping
vailsble resources: & difemma similar to {he one foreseen by Thomas Malihus in 1798 and
buing played out today in Rwanda, Haiti and elsewhere. As (be archacologist David Webster
succinetly puts it, “Too many farmers grew too many crops on foo much of landscape.”
Compounding that mismaich between population and resourves was the second strand:, the
effects of deforcstation and hillside crosion, wivich caused a decrcase in fhe amound o use
farmland al a time yhon more rather than Jess farmland was noeded, and possibly exacorbated.
by en anthropogenic drought resulting from deforestation, by soil nuient depletion and other
soil problems, and by the strugele (o prevent bracken forns from overranning the fields. i

The third strand consisted of increased fighting, as more and more people “ought over fewer
resowrces. Maya warfare, already cndemic, peaked just before the collspsc. That is mot
surprising when on reflects that at least five million poople, perhaps many more, wete
crommed into an area smaller thun the US state of Colorado (104,000 squarc miles). That
“warfare would have decrcased further the amount of Jund available for agriculure, by cresting,
no-maa’s lands between principalitics where it was now unsafe to farm. Bringing matters 10 &
head was the strand of climate change. The drought at the time of the Classic collapse swas not
the first drought that the Maya had lived trough, but it was the most sevore. At e time of
previous dronghts, thers were sill uninhabited pans of the Maya landscape, and people ata site
atfected by drought could save themselves by moving o another site. However, by the fime of
the Classic collapse the landscape was now full, there was o uscful unoccupied land in the
Vicinity on which to begin ancw, and the whole papulation could not be accommodaed in the
few arcas tha confinucd 10 have refiable weter supplies.

As our fifth strand, we have 1o wonder why the kings and noblos failed (o recogoize and solve
these seemingly obviaus problems wndermining their society. Their aliention was cvidently

focused on heir shorttorm concerns of enriching themsclves, waging wars, erccting
‘monuments, competing with cach other, and extraciing cnough [od fom the peasants W

support all thase activities. 1 ike most leaders throughout homan history, the Maya kings and
nobles did not heed lonyg-tem probloms, insofar as thoy perceived thean

Finally, while we stll have some ather past societies to consider before we switch our attention
<o the modern workd, we must already be struck hy some parallels betwecn the Maya and fhe
past societies. As on Mangarcva, the Miya envircrmental and population prublems fed (o
increasing warfare and civil swifc, Similatly, on Faser lsland and at Chaco Canyon, the Maya
peek population numbers were followed swilly by political and soeial collapse, Paralleling the
cventual extension of agriculture from Easter Islanc!'s coastal lowlands to ils uplands, and (rom
fhe Mimbres floodplain to the bills, Copan’s inhabitants also cxpanded from the fluodplain o
thi: more fragilc hill slopes, Icaving them with a lacger population Lo feed when the agricullural
boom in the hills weal bust. Like Faster Islond chiefs erceting ever lavger statues, cventually
crowned by pukno, and like Anasazi elite treating themselves fo nucklaces of 2,000 turquoise
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[image: image23.png]beads, Maya kings sought to outdo each oflier with more and more impressive temples, covered
with thicker and thicker plasier - rominiscenl n wm of the extmavagan conspicuous
cansumption by modetn American CEOs. The pussivity of Tastur chicfs and Maya kings in the
fice of the real bitz threats & their societies completes oue list of disquieting parallels.

76. According to the passage, which of tho following best represonts the factor thar has heen
cied by the author in the coniext of Rwanda and Haiti?

. (1) Various ethnic groups competing for land and other resurecs
¥ (2) Variaus cihnic groups competing for limited land resources
o (3) Various cthnic groups fighting with cach other

(4) Various ethnic groups competing for political power

(5) Various cthnic groups fighting for their idemity

77, By an anthropogenic draught, the author means

(1) a dronght caused by lack of rains
(2)a drought caused dus to deforestation.

(3) a drought caused by failure w preven! bracken fems from overrumning the ficlds
(4) a drought caused by actions of uman beings.

(5) a draught caused by climate changes.

78, According to the prssage, the drougit at the time of Maya collapse had a different impact
compared to the droughts carliee because:

(1 the May: kings confinued to he extravagant when common people were suffering.

i (2) it happened at the time of collapse of leaclership amonyz Mayas.

(3) it happened when the Maya population had eccupied all available land suited for agriculture.
! (4) it was Tollowed by intemecine warfare mong Mayans.

: (5) inreversibls environmental degradation led ta this drought

79, According 10 the author, why is it diffieult 1 explain the reasons for Maya collupse?

(1) Copan inhabitants destroyed all records of that period.
(2) The constant deforestation and hillside crosion have wiped out all traces of die Maya
Kingdon.
(3) Archacological sites of Mayas do not provide any consistent evidence.
(4) It has not been possible to ascertain which of the factors best explains as to why the Maya
i civilization coltapscd.
(5) Atleast five million people were crammed into a smell arca.

80. Which factor hus nol boon

il s ome of the: Faelors causing the coflapse of Maya sociely?

(1) Lavironmental degradation duc to cxeess population

i (2) Social callapse due to excess papulation
(3) Incresed warlare amang Maya peaple

(4) Climate change

(5) Obsession of Maya population with their o short-ter concerns





[image: image24.png]Dircctions for Questions #1 to #5: The passage given below is followed by a set of five
questions, Choaso the most appropriate nswer fo cach question.

Lauguage is not a cultual ardfuct that we lcam the way we learn t tell tine o Low the lederal
government works. Instead, 1t is a_distingt piccic-afbas-iolosios-makeup of our brins
Language is @ comple, specialized SEL, which develops in the child spontamcously, without
conscious elfort or formal instruction, 3¢ depioyed withaut awareness of its underlying logie, is
qualitatively the same in every individual, and is distinet from more general abilities to pracess
information or behave intelligently. For these feasons some cogaitive scientists have doseribed
language as a psyclivlogical faculiy, a menial organ, @ neural system, and ¢ computational
module. But | prefir the admittedly quaint term “instinet”. T sonveys the idk that people know
Low 10 talk in tmore or less the scnse that spiders know how to spin webs. Wob-spinning was not
invented by some unsing spider genjus amd docs nat depend an having had the right education
or on having an apiitud for architecture or the construction trades. Rather, spiders spin spiler
webs because they have spider brains, which give: them the urge to spin and the competence ©
succoed. Although thore are differences between webs and words, | will cncourage you to see
language in this way, for it helps to make sense of the phenomena we will cxplore.

1 hinking of languagc s an instinct inverts the populur wisdom, especially as it his been passed
down in the canon of the humanities and social sciences. Language is no more a cultual
imvention than is uptight posture. Itis not 4 mnifistation nfa general capucity (o use SRBEs: 0
three-year-cld, we shall sce, is 3 srammatical genius, bUF 15 qaite mcompeleat al the visual arts.
religions icenograply. trallic signs, and the olher siaples of the semioics curticulum. Though
Tanguae is a magnificent ability unique to Homa sapiens among living specics, it does not call
for sequesicring the study of humans from the domain of biclogy, for a magnificeat ability
unique to a particular living spesies is far from unique in the animal kingdom. Some inds of
bats home i am flying insects using Doppler sonay, Some kinds of migratory birds navigate
thousands of miles by calibrating the positions of the constellations against the time of day and
year. In mature’s talent show, we are simply a specics of primat with our own act, 4 knack for
communicating informatian abont vho did what to whon by modulating the sounds we maks
when we exhale.

Once you begin to look at language not as the fnc
biological adaptation to commmnicate information, it is no longer as lcmpling 1o sce language as

an insidious shaper of thought, and, we shall see, it is not. Moreaver, seing Tanguage a% one of

nanure’s engineering marvels — an organ with “that perfection of siuchure and co-adaptation

which jusily exciles our admiration,” in Darwin’s wonls - gives us & new espeet for your

ordiuary Joe aml the much-malignud English Linguage (or any language). The complexity of |
language, from the sciextisC’s point of view, is part of our biological birhright; it s not

something tha parents wach their children or som:ething that must be claborated in school
‘Oscar Wilde said, “Education is an admiruble thirg, but it is weil to remember fsom time to time
that nothing that is worth knowing can be taught” A preschooler’s tucit knowledge of grommar
is more sophisticaicd than the fhickest stle manual or the most siate-of-the-art. computer
language system, and the same applics to all healt e the notorious synrx-
fracturing profssiona! athlete and the, you know, like, inarticulut teenage skatchoander.
Finally, since language is the product of a well-engincred hiological instines, we shall see that it
s mot the nuty barzcl of monlecys that entertainer-colamnists make it out 0 be.

fable casence of human uniqueness but as a

81 According fo the passage, which of the following does nat stem fram popular wisdom on
language?





[image: image25.png](1) Lamguage s a cultuzal antifact

(2) Language is a culural invention.

(3) Language is learnt as we grow.

(4) Lungusge is unique 10 Homo sapieas.
5rLanguage is a psychologizal faculcy.

82. Which of the foliawing can be used t replace the “spiders know how fo spin webs™ analogy
as used by the author?

{WeaKitten leaming 1o jump aver a wall
) Bees collecting neclar
(3) A donkey earrying a load
{4) A horse running a Derby
~{5) A pet dog protecting its owner’s property

.

According to the passage, which of the following is unique to human beings?

(1) Ability W use symbols while communicating with one another,

(2) Ability to communicate with cach other throngh voice modulation,
(3) Ability w communicate information to other members of the species.
(4) Ability 10 use sound as means of communication.

g€ of the above.

84. Accarding to the passage, comlexity of fanguage cannot be taught by parents or at school to
children because

(1) children instinctively know language.
\@¥Ehildren learn the language on fheir own.
{2) language is not amenable o teachin
{4) ohildren know language better than their Leachers or parens.
(5) children are bom with the knowledge of semiotics.

85, Which of the fllowing best summarizes he passage?

(1) Language is wnique to Homo sapicns

(2) Language is neither lesmi nor taught.

{3) Language is not a cultural invention or artifact s it is made out.
) Language i instinctive ability of human beings.

(5) Language is usc of symbols uniqué to human beings
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[image: image26.png]Directians for Questions 86 to 9%: The passage given below is followed by & ser of five
questions. Choose the must appropriate answer to cach question.

When I was litle, childrer were hought two kinds of ice cream, sold from thuse white w
with canopies made of silvery metal: sither (e two-cent cone or the four-cent ice-cre
The two-cent cone wes very small, in fact it couid it comforuably into 8 childs hand. axd it was
made by taking the ice cream from its container with « special scoop and piling it on the vone.
Granny always suggested ! cat only a par of the eame, then throw away the pointed end, because
it had been touched by the vendor’s hand {though that was fhie hest part, nice and crunchy. and it
was regulrly caten in secrel, aller u pretense of discarding it}

The fout-cent pie was made by a special e suachine, also silvery, which prossed two disks of
sweet iscul against a cylindrical sestion of ice cream. First vou hiad to thrust your tongue into
the gap between the biseuits untl it touched the ventral nucleus of ice cream; then, gradually,
you ate the whalc thing, the biscuit sur’acs softexing us they becanie soaked in creamy netar.
Grarny had no advice o give here: in theory the pics had been touched only by the machine; in
practice, the vendor tad held thom in his hemd while giving them 1o us, but it was impossible to
isulate the contrminated area

1 was fascinated, however, by some of my pecrs, whase patents bought them not a four-cent pie
but two two-cent cones. These privileged children advanced proudly with one cont in their right
hand and one in their lefx, aud expertly moving their head from side to side, they licked first one,
then the other. This Titurgy scemed @ me so sumptuously enviabl, that many times 1 asked to
beallawed to celebratc it. In vain, My clders were infloxiblo: a four-cent icc, yes; but two twa—
cnt ones, absolutely no.

As anyone can sce, neither mathematies nor economy nor dictetios justified this refusal. Nor did
bysienc, assumiag that in duc course the tips of hoth cones were discarded. The: pathetic, and
obviously mendacious, justification was that a boy concernid with wrving his eyes from onc
Cune o the other was mare inclined (o stumble over sioncs, steps, or cracks in the pavement. 1
dinnty senscd that there was anther sceret justification, oruelly pedagagical, but | was unable to
geasp i

Today, citivn sad victim of a consumer sacicty,  civilizetion of excess and wastc (which the
Society of the thirties was noU), 1 reatize that thuse dear and now departed ellers were sight. Two
uwo-cent cones nstead of one al four cents did not signify squandering, ceonomically speaking,
but symbolicalty they surely did. Tu was for this precise reason, that T yearned for them: because
fwo ice oreams suggosted oxcess. And this was preciscly why they were deniod to me: because
they Jooked-indocont, an fusull o ey, a display of fietitious privilege, a boest of wealih
Only spoiled children we two cones al once, those SIURT Wi fairy tales were Hghtly
Funished, as Pinocchio was when he rejected the skin and the swlc(And arents who
encouraged this weakness. appropriare w Jiule parveniss, were bringing up their children in the
faolish theatte of “1'd like 1o but 1 can’} They were prepuring them to wm up at tourist-class
check-in with u fakee Gueei bag bought frdn a strect peddler on the hach at Rimini.

Nowadays the moralist risks sceming at 0dds with morality, in # world where the consumer
civilization now wants cven acults to be spoiled, and promises them aliweys something more,
from the wristwaich in (e box of detcrgent 10 the bonus bangle shethed, with the magwsire it
accempanics, in s plastic envelope. Like the parents of those ambidoxtrous gluttons 1 so envied,
ihe comsumer civilization pretends fo give more, but actually gives, for four cents, what is worth
four cents. You will theowaway the old tarsistor rdio t© purchase tho nes ove, that easts an
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[image: image27.png]alarmn elock as well, but some inexplicable defecr in the mechanism will guaraneze that the radio
Tasts only a year. The now cheap cae will have leather scats, double side mirrors adjustable from
inside, and a panelled dashboard, but it will not last nearly so long as the glorious old Fiat 500,
which, even when it hrake down, could be started again with a kick.

The morality of the old da
be Sybarites

made Spartans of us all, while today’s moralily wanls all of us 0

86. Whichs of the follwing cannot be inferred from the passage?

(1) Today’s socicty is more extravagant than the society of the 1930s,

(2) The act of eating two icc cream cones is akin to a ceremonial process.

ders righrly suggested that a boy tuming cyes from one cone to the ofher was more likely
to fall

(#) Despite seeming to promise more, the consumer civilization gives away exactly whal the
thing is worth

(5) The consumet civilization attempis to spoil children and adults alike.

87, In the passags, the phrase “little parvenus” refers w

(1) naughty midgets.
(2) old Lugs

(3) arrogant people.
(4) young upstarls.
(5) foolish kids.

88. The author pincd far two two-cent cones instead of one four-cent pie hecauss

(1) it made dictetic sense.

(2) it suggested intemperance.
(3) it was more fim.
(4¥irTiad a visual appeal.

(5) he was a glutton.

89, What does the author mean by “nowadays the moralist risks seeming at odds with
morality?

(1) The moralists of yesterday have becoms immoral (oday.
(2) The concept of morality has changed over e years.

(3) Consumerisun is amoral

(4) The risks ussociated with immorality have gone up.

(5) The purists view of morality is fast becoming popular.

90. According to the author, the justification for refusl 1o Jet him cat two eones was plausibly

(1) didactic.
(2) distetic

) dialectic,
(4) diatonic.
(5) dinstotic.
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